
26001 Triumph Thruxton RS Fly Screen Fitting Instructions

Follow the diagrams below for assistance when fitting.

Fitting notes:
Remove the OEM side mounting bolts (left & right) on the headlight.

Fit the Fly Screen to the Metal Brackets (ID.5) using the M6 x 8mm 
Bolts (ID.6) & M6 Plastic Washers (ID.8).

The Fly Sceen is then fitted as shown in the diagram above.

Check all fixings periodically.

Items highlighted in GREY are not needed for fitting.

ID.5

ID.12

ID.10

OEM Headlight OEM Headlight 
Mounting Arm

Fairing
Screen
M6 X 20mm Bolt
Screen Kit (3X Well Nuts, M5 X 16mm Bolts, Washers & Bolt Caps)
Metal Brackets (pair)
M6 X 8mm Bolts
M6 X 12M6 X 12mm Bolts & Nuts
M6 Plastic Washers
M8 Nuts
M8 X 35mm Bolts
M8 Steel Washers
M8 X 15mm X 9mm Spacers
M6 X 12mm X 8mm Spacers
Rubber TrimRubber Trim

Any questions?
sales@pyramid-plastics.co.uk
+44 (0)1427 677990
www.pyramid-plastics.co.uk

Follow us on social media and 
feel free to leave us a review!


